AP Calculus Unit 2 Quiz 3 (with Trig & Implicit) - KEY
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1.) Prove that d—(csc X) =—cscxcot x.
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For # 3-6, find the derivatives of the following functions. Wrire final answer in the space provided
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_|fHH’|’ answer in the space PJO\H{(TF

= 4, Show all work, write
@-ﬁ-" L, 8) Hy= cos®x — sinx.theny' = Circle final ansnwer,
(n) —1 o @ (d) —2(cosx + sinx)
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7.) Find the tquarlon of the line that is tangent to f(x) = x® — 4x — 7 and parallel r{:
ﬂ

AP Calculus Unit 2 Quiz 3 (with Trig & Implicit) - KEY
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i o 312 10.) ('Ot]*er xsiny+ x* =2y — 7\ Find 9 i yefls of x and v. Show all work; write final answer in the space
9. f the derivative f(t) = —=at the point (=2,3). Show all work; write final answer in the space rind dx
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11.) Consiieir E‘ +xy = “B Find % Show all work; write final answer in the space provided. 12.) Find E&g‘ r = cos(1 + sin tﬂ
) dr
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DUE TOMORROW!!!!
#6,8,16,20,32,34,36,38,70,78,80,82

Unit 2 TEST is
THURSDAY!!



